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Test Instructions

LY Sloas

Check that this question booklet has your
correct details printed on it (€SIS number,
name, date of birth, school name, class).
If not, write the correct information neatly
in the spaces provided.

m You are allowed 80 minutes for this test.

m You must not use a calculator.

There are two types of question:

Type 1: Multiple choice (29 questions)

Each question has four possible answers.
Only one is correct.

Use only a pencil to shade in the

answer bubble of your choice.

If you make a mistake then rub out

your answer completely and shade

in the bubble of your new answer.

Type 2: Open response (8 questions)

Write your answers in the spaces provided
within the test booklet.

Do not write outside the answer spaces.
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Grade 8 Mathematics

o
o
The probability that it will rain tomorrow is 0.01 3
What is the probability that it will not rain tomorrow? ;
=
) 0.01 ) 05 © 09 099 =
~+
2.
(7]
What does 7° + 7% simplify to? 5
5 a
o 7 o
o 725
o7
710
A
B
C D B

In the triangle ABC, AD = 6 cm and the area of AABC is 30cm”
What is the length of CB?

() 5cm
10 cm

15 cm

20 cm

000

What is the answer to this calculation?

97 - 24 x 3

) =623 ) 25 o 21.9 o 25
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Grade 8 Mathematics

o
Look at this list of fractions. %
Match each one to its decimal equivalent. ;
One has been done for you. ;.:.
5.
1 n
2 o
> 0.1 ®
®
3
10 0.5
’l .
g 0.3
1
3 0.2
1
0 0.3

The total surface area of this rectangular prism is exactly 1000 cm?

Its height is 5 cm and its length is 20 cm.

5cm

20cm

What must its width be?

() 10cm () 16cm () 20cm () 32cm
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Grade 8 Mathematics

o

What is 376.325 rounded to two significant figures? %
) 37633 2
=

() 3763 2.
=]

) 376 5.
(72}

) 380 g
Q

0N

®

| use a taxi every day to get to work.

One month | kept count of how many times the taxi was early, on time or late.

Early On time Late

3 15 2

What is the probability the taxi comes on time?

) 0.15
) 0.75
) 0.9

) 0.25

What is the value of 3% + 2°?

O 12
o 17
) 55
O 5

The numbers 1 to 10 are in a bag. One number is taken out at random.

What is the probability of this number being greater than 67

4
5 s

5
) ~ 70 10
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Grade 8 Mathematics

o
INN This diagram shows a large, shaded triangle with a triangular hole in it. 5
3
g
3.
~+
®
=
~+
5
£ o
o Not drawn accurately 5
Ne) o
S o
G o

<

4 cm
6 cm

What is the shaded area?

cm

1
What does 27° simplify to?

— 18
= 9
o3

1
— 5
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Grade 8 Mathematics

o
| drove 450 km in four and a half hours. %
What was my average speed? g

=
) 10 km/h ‘5"
) 11.5km/h S
(7]
D 100 km/h §
) 115 km/h 3

Look at this right-angled triangle ABC.

B
3em 5cm
_|
A 4 cm C

Draw and label a triangle PQR where PQR is similar to ABC and PR = 8cm

5081-11 E
11




Grade 8 Mathematics

o
What is the simpler form of the expression: 5(3a - 3b) - 3(a - b)? %
) 5a-12b 2
=
) 5a-18b 2.
=}
3 12a-12b 5
[72]
) 12a-18b g
a
o

a

5cm
b

The area of this trapezium is 50 cm” and a is less than b.

Write down a possible pair of values for a and b.
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Grade 8 Mathematics

o
A fair 6-sided dice is rolled. %
What is the probability that a multiple of 3 is thrown? g
1 o
)~ —
6 =
2.
1 (7]
— (%2}
— 2 :
(2]
: ®
— 3
2
— 3

Which of the following is not a correct rounding of 8.1727

O

8.17
8.1
8.2

000

What is 12¢° + 3t* when simplified?
O 4

O 4’

O 47°

O 447
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